PIRANHA OFFROAD PRODUCTS BTMPNM
To Suit MITSUBISHI PAJERO NM - NX

4M41 DID 3.2LD & 6G74 3.5L V6 PETROL NFgLSSléILTFA;tTE

PARTS INCLUDED WITH TRAY|  FITTING INSTRUCTIONS

3 X M6 Bolt

3 X M6 Nut The cradle fits on passenger side rear.

2 X Body Washers For Petrol version

2 X Weld Bolts The charcoal canister has to be moved to the opposite side, and
1 X M8 Bolt Long vacuum hoses lengthened.

1 X M8 Nut Unboilt cruise control unit. Mount cruise control unit onto tray first,
2 X J Bolts then fit tray.

1 X Universal Top Mount
1 X Cruise Control Bracket NOTE: Caution’should be taken around air conditioning piping.

4

Ensure, before closing the bonnet that all items fitted have
adequate clearance

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX —

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTMPNM




